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Picture C2: 5 visual equidistabt-grey steps- NO + W1, Use of the PS operat6f0On* setcmykcolor

Picture C2: 5 visual equidistabt-grey steps- NO + W1 Use of the PS operater* setgray

Picture C2: 5 visual equidistabt-grey stepss NO + W1, Use of the PS operatann0* setcmykcolor
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Picture C2: 5 visual equidistabt-grey steps- NO + W1, Use of the PS operataww* setrgbcolor
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Fig. C2 of ISO/IEC-test chart no. 3;
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Picture C2: 5 visual equidistabt-grey steps- NO + W1 Use of the PS operattab* setcolor
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Picture C2: 5 visual equidistabt-grey steps- NO + W1 Use of the PS operatbAB* setcolor
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